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Page 28 
Page 28, paragraph 6: the equation for the proper wavelength should read λem = c/fem.

Page 28
P.28, in the last paragraph, the first sentence should read '...time separating the emission of successive equivalent nodes is ...'

Page 
In the answer to the in-text question, just above the equation for velocity HYPERLINK "http://learn.open.ac.uk/filter/tex/displaytex.php?v_x+%5E%5Cprime" \o "TeX" \t "popup" 
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, it should say: "... the  of object 1 is 


..." 

Page 31–32
Bottom of p31, top of p32 the sentence has "ct'-axis" and "x'-axis" the wrong way around. It should say: "This shows that in the spacetime diagram for frame S, the x'-axis of frame S' is represented by the line ct=(V/c)x, ... Similarly ... showing that the ct'-axis of frame S' is represented by the line ct=(c/V)x ..."

The diagram is correct.

Page 54
P.54, the Taylor theorem expansion of the Lorentz factor in Eq 2.20 and the equation above Eq. 2.21: the coefficient of the v4/c4 term should be 3/8 not 3/4.

Page 60 and 61
In Equations 2.46, 2.47 and 2.48, all the particle[image: image3.png]i





(with appropriate index, subscript and prime as necessary) to indicate the momenta of the emergent 


symbols on the right hand sides should be s.

 

Page 69
In the sentence following Equation 2.80, the units for μ0 should be TmA-1, as in Table A.3 on P.278, and not NmA-1. 

Page 70
In the un-numbered equation for [image: image6.png]




. 
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not 


, the first term inside the brackets should be 
Page 72 
P.72, the first component of the vector on the right of Equation 2.91 should be γ(v)c not just c.

Page 75 and 79
Equation 2.102 on page 75 (and again in the chapter summary, item 14 on page 79) should have 


on the right hand side. 

Page 86
The second equation below Figure 3.7 should read





but Equation 3.9 is correct.

Page 96 
In the box on "Parallel transport and connection coefficients", the second line should read "...with coordinates 


..." 

Page 137
P.137, the definition of the norm on the 4th line down should read:

Σα,β gα,β tα tβ
i.e. the metric (gα,β) was inadvertantly omitted from the text.

Page 149
P.149, in the fourth equation from the top (for exponential


), the  term should be [image: image12.png]




. 



not 
Page 159
P.159, the left hand side of Equation 5.19 should be 


. 

Page 190
P.190, in Equation 6.28 there should not be an [image: image15.png](dr)®





. 



term in front of the coefficient of 
Page 193
P.193, second bullet point from the end of the page should say "As [image: image18.png]




". 
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and 


it can be seen that 
Page 202
In bullet point 13, the statement in brackets is confusing two issues.

In an extreme Kerr black hole - i.e. one where event


- the two  horizons are coincident spheres.

Alternatively, in a black hole where surface of infinite redshift


, then the outer event horizon and the  are coincident spheres - and the object is a Schwarzschild black hole.

So the best thing is to delete the statement in brackets.

Page 245
The equation in the text four lines up from the bottom of the page should read 


. 

Page 250 
Under 'Case 4', the third line below the equation, should say "...would sum to less than 


radians." 

Page 261
The expression in the fourth line from the top should say that ρr (and not ρm) is proportional to 1/R4 .
Page 262 and page 305 
P.262, In Exercise 8.7 the unit of the current cosmic matter density should be kg m-3. In the answer to the Exercise, on P.305, it should say setting [image: image24.png]Pm.0





. 



not 
Page 262
P.262, In Figure 8.14, the labels 'k>0' and 'k<0' are the wrong way round.

Page 267 
In Equation 8.62, the third term on the left-hand side should be 


. Also, the line beneath Equation 8.63 should refer to Equation 8.61 and not Equation 8.53. 

Page 273
Om Figure 8.18, the line labelled "Hubble distance" should have proper distance[image: image27.png]2c





(see Figure 8.17 where it's correct). Also on the line for "


not  at emission / Gly", the labels for 0.5 and 0.1 should be swapped. 

Page 284 
P.284, solution to Exercise 2.14: Replace each of the four occurrences of Λ with Λ-1.

Page 287–288 
P.287, solution to Exercise 3.9: In Equation 3.69, (dθ/dλ)2 should be (dɸ/dλ)2.

P.288, solution to Exercise 3.9c: towards the end should say sin θ = cos θ = 1/√2 (i.e. not √2). So the following line should read: "Equation 3.69 becomes 0 - (1/√2)x(1/√2)x1 = -1/2 ≠ 0." The rest of the answer is unaffected.

Page 295
The first line of the answer to Exercise 5.3 should read:




.

Page 304
In the last paragraph of the solution to Exercise 8.5, the relation should be: [image: image30.png]




as the last term inside the brackets. The final line of the solution is already correct. 



so the two intermediate lines of the solution should have 
Page 306
Solution to Exercise 8.9 (iii). Add the following sentence to the end of the solution: "The Einstein model also requires k > 0, so this corresponds to any location along the green line, to the right of the red dashed line."

